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HSSC CET Group D 21 Oct 2023 1st Shift Paper

Bihu’ festival is celebrated in whicy, Ing
lan

4. ‘dre’ vd 9ra & form T H W S e 3
I State ?
HeNT] (1)  Punjab
" e (2) Uttar Pradesh
(& S (3) Assam
(4) Fieh (4) Karnataka
(5) S & a1 | (5) Not Attempted
s ) Fob o T W % 7 2. Which year did India attain freedom ?
(1) 1950 (1) 1950
@ 1947 2) 1947
(3) 1951 (@) 1951
(4) 1930 (4) 1930
(6 W ‘—réf e (5) Not Attempted
£ i 3 R Chtrefers to :
W T g (1) Common Estimate
2) wery (2) Common Era
) wﬂﬂ (3) CasualEra
(4 e AR (4) Coastof Egypt
P}, e 7 & T | (5) Not Attempted
Wﬁ@ﬁrﬂwmﬂmﬁ T 4 Which one of the following refers to the
feererdl & g T3l T forer St sl B1 T | programme introduced in all government
BT EEER Rl mm%? elementary schools to provide children with
TR G cooked lunch ?
@) #& a=e, 32 e (1) Mid-day meal _
o) e (2) Beti Bachao, Beti Padhao
(3) Sarv Shiksha Abhiyan
i o (4) Mahila Samakhya
e ke (5) Not Attempted
:){Mg;fmqu:ﬁmﬁg:‘i?w) 5. What is the full form of ‘MAA’ ?rogramme ?
(2) #iuE fawin (HeT U e (1) Mother’s Absolute Attention
. (3) Tt 4 e s Hat e ( ﬁ?gaa?r (2) Mother And Adl.olescent
J s st R S (3) z:lgstrual hygiene Among Adolescent
v - ) S e (e W AR ) (4) Mother’s Absolute Affection
Al 5l on (5) Not Attempted
Page 2

VNATHE1 7 19 % fo7 gerer/ SPACE FOR ROUGH WORK




Join Telegram Group "HaryanadJobs.in"
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6. v F em g o

W) 8371 ..
(2) 9371 &,
(3) 2371 f%H
(4) 6371 fe
(O) S T & =
7. U F SR i e v e €
M) TafE
(2) wrgHew
(3) ey
(4) FSH
(5) I TE o W' |
8. U YRA F YYH TER-SRA & ®Y § frely s
foFan ?
(1) HER ToAIE 5o
W) T e
(3) TR T Te®
(4) S TSEITITETERT
(5) ST Tl o7 9 |
9. ‘fefewl ura #1 sfoer’ Y&as & oiEs FH § 2
(1) @A EEE
) e mrEEed
(3) OIS Fd
(4) g fae
(5) I TR oA TR |

10. 792014 § YHY g ‘ SAFAH SR 1 9e¥a € ¢

) frafaa 2T % Ted o S SRR STl
Frarrero Med ge Mo a= 1 wfefea FwE

(2)  TTOr SEEE o TR ae oY
Fard e[ Al |

(38) dfga =i &l forsn ggH |

()  foint 1 faf wopm 1 smeaa % g
i T, A e e e

(5) w7l < A9 |

10.

What is the radius of the earth ?

(1) 8371 km
(2) 9371 km
(3) 2371 km
(4) 6371 km

(5) Not Attempted

The earth is surrounded by 2 layer of & 1
called : 9
(1) Environment
(2) Atmosphere
(3) Climate

(4) Ozone

(5) Not Attempted

Who served as free India’s first GO
General ? 4
(1)  Sardar Vallabhbhai Patel
(2) Maulana Azad

(3) Jawahar Lal Nehru _
(4)  C. Rajagopalachari T
(5) Not Attempted el

Who is the author of the book -
British India’ ?

(1) Warren Hastings

(2) Lord Mountbatten
(3)  Lord Curzon

(4) James Mill
(5) NotAttempted

‘Mission Indradh_anu-sh*; lau

2014 is:

(1) To cover children
partially or not vac
routine immunisatio 1

(2) To provide affordab
healthcare to the t

(3) To provide educat
children. ;

(4) To provide informat
and service to mee
adolescents,

(5)  Not Attempted

e
YNATH  Eq
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11.
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o, gz T gfEay e el w1 ey aEd F
fFa T A gy

(1) T
(2) shfem
(3) F&
& e

(5) I AE <1 | |

12. ‘e’ frefafed § 4 o w w9 8, 99 axdong
T I S R ?
B 39
(2) mEO
(3) S
(4) T
(5) I TE N TR
13. wT9E swEa favatasmes Fel st &2
(1) e
(2) feeeit
(3) TETS
¢
(5) I T oA 9@ |
14. Tava wrET feam wam S g
d) 7EA
(2) 5w
(3) 7 e
(4) 5@
(5) 3O FE <A =" |
15. SFUF 2011 F SER, YA FHE el § .
v 78.0
(2) 88.0
(3) 83.0
4) 73.0
(5) I TR & =@ |
VNATH/ E1

B

12.

13.

14.

15.

Appam, Puttu and Idiyappam - food items
belong to which State of India ?

(1) Gujarat

(2) Orissa

(3) Kerala

(4)  Punjab

(5)  Not Attempted

‘Lugda’is a kind of whic

‘ h one of the following
that is worn in Chhatti

sgarh ?
(1)  Dupatta

(2) Ornament

(3) Footwear

(4) Saree

(5) Not Attempted

Where is Jamia Islamia University situated ?
(1) Bhopal

(2) Delhi
(3) Lucknow
(4) Aligarh

(5)  Not Attempted

World Environment Day is celebrated on :
(1) 7t June

(2) 5t July

(3) 7t July

(4) 5% June

()  Not Attempted

As per Census 2011, the literacy rate in India
is :

(1) 780
(2) 88.0
(3) 83.0
(4)  73.0

(5)  Not Attempted

3% BT o fe10 Z=rer / SPACE FOR ROUGH WORK
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16. =4 2016 H WG HEHR A _ P
& foan 7 &
(1) 38
) I Y
(3) iy TR
(4) Is=En
(5) S T8 = =y
17.  FwW ¥ o an-ad o e g
(9 T Bl
(2) faafE= C
(3) fa=rw3 D
(4) fIe=F A
(5) IR TE o eS|
18. W-Iﬁﬁﬁﬂ'&fﬁg\lﬁ Wﬁm-nﬁﬁqm
9% Hohal 9 gAToT HIfT :
-1 WY - I
() TogEEE n —=
B s REmEfEE ) @
(c) To=@ s A e
o) 9= V) —-
Hﬁﬁwaﬁ'&
(1) (A)-(), (B)-(1), (C)-(11), (D)-(IV)
(A)-(IV), (B)-(1), (C)-(11), (D)-(111)
(3) (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
4) (A)-0), {BJ-UIJ,“(CJ-(”U, (D)-(IV)
(5) I @ < = |
& = 1 e T S, dl 34h
19. afz el =afa F1 WWZ’::’W% -
o ) g g TP gl
Siif 8 TE G| A A T :
) EEfatad
(2) T
(3) T
(4) Zeqo :
=77 21 &A1 =red |

(5)
oA n e/ SPh

VNATH / E1

16.

2016, the Governmx
mission called
per Sewage disposal

In the year
in-itiated a
which a pPro
Stamg:ﬁaan
(1) ‘gwachh Bharat
(4) :
(5)

causes beri-beri
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- 20. The SI unit of mass is :
o' Wﬁﬁmm@m i R (1) kilogram
i V( Y (2)  pound
() m (3) ounce
(3) =9 (4) gram
(4 8 T (5) Not Attempted
(5) W
21. FTEfE A HiuRt w1 FRmE 21. Hepatitis ‘A’ is caused by :
(1) faum (I)  Virus
2) wEE (2)  Fungi
G wesEn (3)  Protozoa
@) <Em o (4) Bacteria
(5) = 79 ¥ ued | (5)  Not Attempted
22. Tr=fefad %1 gafed = 22. Match the following :
M (m M ()
(A) TIEd () FEAR T (A) Lamina (I)  Weak stem
(B) q-q@ () 3iemEE (B)  Petal (I)  Ovary
©) S I T (C) Pistil (1) Leaf
Dy e ) ™ (D) Creeper (IV) Flower
(1) (A)-), (B)-(), (C)-1), (D)-(1V) B (&)1, (B)-(), (©)-q), (D)-v)
| (2),  (A)-(IV), (B)-(11), (C)-(I11), (D)-(1) @) (A)-v), (B)-(1), (C)-(1), (D)-(1)
glf A %ﬁ{h}%ﬁ{;} gg;g{ B) (A)-m), B)-u), (©)-v), (D)-(
e = qﬁ?ﬁﬂ ot ) (4 (A)-(m), (B)-IV), (C)-(11), (D)-(1)
(5)  Not Attempted
23. a el 9 B St s
Z| 23. and are water borne
(1) aﬁ_aﬁ 3?]'{ ﬁﬁm diseases.
| & T s (1)  Beri-Beri and Dysentery
| 3) e el Fevm (2)  Scurvy and Cholera
@i fe s BF ; (3) Polio and Rickets
) ?;Fﬂ e — (4)  Typhoid and Meningitis
(5)  Not Attempted
24. Ffafed 4 3 fras e 4 e 5w frn
TAE? 24. Yeast is used in the production of :
(1) s (1) Oxygen
(2) “eFEa (2)  Alcohol
(@) erEEEefE ww (3)  Hydrochloric Acid
@) (4)  Sugar
(5) 3 A & = (5) Not Attempted
VNATH / E1

¥ el & fetu 221 / SPACE FOR ROUGH WORK Page €




25.

26.

27.

28.

29.

VNATH / E1
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U TS HHa 747 & wo HEe H gl wws
&1 i si oo e PR g Ay
(1) 25 HIme

(2) 50 FH

@ 75 HaHe

(4) 100 HIH

(5) SR TEl &1 9mEd |

frfefen 8 8 SH-9 e ygfodam @ e 2
(1) w&&d

(2) FuiEd
3) EF A
¢ =

(5) S 1 =R |

=1 gfswar § Fo F o ¥

ey Fi SEvIHal Tel el gl
(1) =eH
@ FEe
(3)  STSHRESiA
(4) Tafezo
(5) SR AR & e |
aiz'ffqm‘:f 3 vamE o © |
(2) TS
(3 o
@ T
) I
A ﬁﬁwmwﬁaﬁﬁmﬂﬁ%?
(1) firer =1 AT e

25.

26.

27.

28.

29.

A boy is standing at a distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(1) 25 cm
(2) 50cm
(3) 75 cm

(4) 100 em
(5) Not Attempted

Which of the following js not a terr

habitat ?

(1) Desert

(2) Rainforest

(3) Grassland

(4) Pond

(5) Not Attempted

No medium is t‘EerEdfﬂf transfer of heat by

the process of T
(1) Conduction

(2) Convection

(3) Transpiration

4) Radiation | _
(5) NotAttempted € W

._'.Ii\ =y "
Earthworms breathe through their__ iy
(1) I o
(2) Gills 3
(3) Skin By |
(4) Lungs ST |
(5) Not Attempted Is
Which of the following is not the characteristic .'"

of fish ?
(1) Presence of gills
(2) Long backbone with cylindr

(3) Head and tail smaller tha
portion of the body.

(4) Presence of fins
(5) Not Attempted

Z: o 25 e 4 g it RSB
e BT B 2

@) mﬂd(w?)ﬁ?mﬁ

(5) e ] 3

o @ & oo e | SPACE FOR ROUGH WORK
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30. wisll #1 aw o @ wwenan # faed sngsh A

(1) wfefean saga
W2 F=E

(3)  Feram

(4)  SrerEal

(5) S TE 9 =R |

31. fawg = 9973 Fif9w :
(1) TR

(2) S
(3) THX
A T
(5) S 7€ o =9ed

32. TYFYT ﬁnm?ﬁaﬁaﬁmlaﬂtnﬁqwﬁu few
wmﬁﬁmmgaﬁamma&ﬁ@
o & = 3 w29 & g =% f% -3
Ferm feu o e & amuR W adT w9 A Freerr
g/ wem £ 2

FYT :
T ST FH E )

F2F FAAFE |

T -

L B 99 @A

0 FBFAIAITFEZ

(1) e faed 11 feerm 2|
(2) fAwFd 1 3 11 2 feaa 2
(& A4 e 1 2= &1 fAwaa &
(4) Faa fFed 1 e &

(5) = @ 291 |9Ed |

30.

31.

32.

The property of metals by which they |
beaten into thin sheets is called - 1 b

(1) Reactivity
(2)  Ductility

(3)  Malleability
(4)  Conductivity

(5)  Not Attempted

Find the odd one out -
(1) Carrot

(2)  Potato

(3) Tomato

(4) Ginger

(5)  Not Attempted

Two statements are given, followed by twe
conclusions I and II. Assuming th
statements to be true even if they seem to b
at variance from the commonly known facts
decide which of the conclusions logicall;
follow/follows from the given statements.

Statements :

All animals are dogs.

Some dogs are dangerous.

Conclusions :

L All animals are dangerous.

II.  Some dogs are animals.

(1)  Only Conclusion II follows.

(2)  Both Conclusions I and II follow.
(3)  Neither Conclusion I nor II follows.
(4)  Only Conclusion I follows.

(5)  Not Attempted

VNATH / E1

¥ @1l o 61w 22t / SPACE FOR ROUGH WORK
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¢ RS & D &R iR B 1 oo

VNATH / E1

P i . amf%afmzawsmce FOR ROUGH WORK
A o]
) II'_ i

feran s ® ﬁ\q;:inm | ‘?OVET’ F FRYHW’ 33. Ifina c/e" 2 |
S 2 L W CHIDE #) = feran ‘FRYHW' then I
w }{L o U E‘ .‘_ same langll
g it (1) KLGH
(3) fg}m (2) KLEI
(4; e S
(4) KLEF
B T (5) Not M@
3T
34. ARQ, RFTF TH wi g, A1 ) 34. IfQ'is
TR Tsfed 8 2 QW U ‘Q’ relat
(1) ==/ ¢ R m v
o g
(3) IO WE/wEd a
(5) I el ol =Ied |
35. A set o
bled
35. = ST SR 3 wE ) srerafeer e H e o
& gEnsi F 39 9dieE & 9 s AER acco
Z7e7 =] STETE H T Ush 10l e = | (}:
G P R s SO R E
i 2 2 aERlass (1)
1) 2,1,53,6,4 (2)
® 2.5.1,3,6,4 (3)
3) 4,1,5,2,3,6 )
4) 3,5, 1,4,2,6 (5)
=7 8 2 = |
R 36. If 25
T how m
a6, A fl = H 25 Wﬁﬂ*ﬁ“%’?ﬁwqﬁ month ?
"y werAR #@1? (1) 5
(1) S (2)
@) 4 (3)
(4) :
3 ©
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37. T ME @ F T GG A i 37. Find the next term of the series :
11,12, 36,25 41, - 110 18,16; 26,41, 2
\ ks \ [‘
(1) (616) (1) 66
O (2) 69
e L B 72
(4) 65 3

. 4 65
(5) I TR & AR ) e .

(5)  Not Attempted

38. TS A, B, C, D A E IW H 3 5 F:0F v S AR e standi:
e . . . < ik - 1 . "! anc c Sta
qﬁaﬂ@%‘ﬁﬁﬂwqﬁ%fﬂ?ﬁmﬂﬁh as. Five children A, B, a .
. . a row, facing North but not necessarily 1
‘T, B'H TR AIANA, FAOE T A’ D x

same order. ‘C’is to the right of‘El.' and to |
SEHTE T R F A Y A Y left of ‘A’. ‘A’ and ‘D’ have one child betwee,

{1) A, € = 2 them. Who is in the middle of the row ?
4 B apceplE " /3 1) c
) S DHE (2) B
@) E A @ ‘F -

(5)  Not Attempted
39. TF = W fewn ¥ g w1 ww ¥ 9w I

fewn & 135° 93 T &, 39 A < fom | 39,
90° T Sl © | 379 36 s frw fean 1§ 7

A man is facing North direction. He turns
135° in anticlock-wise direction, and then 90°

in the clock-wise direction. Which direction
(1) SR ' is he facing now ?
\(f  SR-TfEm 2 (1)  North
(3) ufv=w 9 (2) North-West
(4) TH-g= ¢ (3) West
(5) = T =9 =RA| (4) North-East

(5) Not Attempted

40. Tom v fFefiier #1 Heiv g 4 2, 5 wohm =g
frga gafyg 22 40. Kilometer is related to Distance in the same
- way as Newton is related to :

(1) Density

Force



9! =] ]-‘\

41. UF A (P

Afe Tar{aﬂ PRI 370t 351 4 5 iy sfirer 31 Eu

&1 9 TJT:' ‘waj ,ril‘_! Tﬁ mqlr"l' ?: F" .

SHFT ST (W9 Ydrer ) g '

) 5244

(2) 5544

(3) 5306

4)  STi2

(5) S = 21 =mweq
42, YT 4a4s5 —ion. =

o 07128137 (15— X)) =58 &, 7l x F AH

; 42,

43. A FEIH A, B ¥ 20% FH FE F@ ¢ AE A
ol =714 1 72 92 H QU S Hhar s, 1 BSH @ | 43.
=1 foas T99 T 90 F g ?

A
(2)
(3)

(4)

Join Telegram GrouE "HarianaJobs.in"

00500 741 2 35,000 FENF, | 44.

600 % Fel T4 H B

-(5) Not Attempted

: m m
The radius of a cylinder 19 Sri?ace area 0 ht;
height. If the curvg ?1 n the olume ©
cylinder is 7‘){2 cm?, the
cylinder (in cm?d) i8¢
(1) 5244
(2) 5544
(3) 5306
(4) 5712
(5] Not Attempted
alue
If 45 — [28 — (37 — (15— )}] = 58, then the valu
of xis : N
(L =1 &3 TN
(2 19 w2
(38 29 .
(4) —29 | ¢

A does 20% less work than B in the sa
time. If A can complete a piece of work
7Y% hours, then B can do it in :

(1) 5% hours ?__5‘“5 6
(2) 6 hours

(3) 6% hours

(4) 5 hours

(5) Not Attempted

A and B started a business by investin j
Z 22,500 and X 35,000 respectively. Ou
total profit of ¥ 27,600, B’s share is :

(1) T 14,400
2) %16,800
(3) %19,200
(4) 210,800

Not Attempted
ORK




"
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> ey 3 ; | 45. The cost of type - [ rice is Z 15 pek Kg ang 0
45. U&HN |%{WWW\ la‘,ﬁ?{ g | a?ﬁﬁa" t‘\']‘l(" Il rice ig ¥ 20) per kg If rice o f by
TFR -1 % AT 1A X 20 Wia fareiom &) afe types are mixed in the ratio 2 - 3, then th
T W & e ) 2 3§ faern mn @), 4 fago cost price per kg of the mixed variety o Fic,
F1 Wi fareimm e # . il
(1) 219
(1) T19 _
o €185 (2) 218,50
& 21550 (3) 219.50
W 18 LR R18
(5) T TE T =R (5)  Not Attempte
[ a5 X R = 46. \'If | ZoNE 1
46. Zifelrlﬁ_“_zl+_'_. X 1 °HH : € +m— gig=—t
\ 144 12
M’f 5 NS
) 13 (&) e
3) 17 8) 17
4) 1 @4 1
(5) 3T I =R (5) Not Attempted
47. TFTF 550 e =% = 1 mﬁmm%m 47. A truck covers g distance of 5
AR R f 1 o3 bt . 1 minute whereas a bus covers a
ol FIE 45 TR A T et §1 7 33 kms in 45 minutes. The ratio
F1G 1 71 %1 71 § S & of the truck to the speed of the by
(1) 4:3 @43
(2) 3:5 @ySNar 5
3} *5:3 Bl 523
(4) 3:4 (4) 3:4
(5) W AH T =Ry ()  Not Attempted
48. T HEMsH # HCF 28 ¥ ¥ 76 LCM 336 21 | 48. The HCF of two numbers is 28
HT’U&TWIIQ?#TW@WW' 1s 336. If one number
D i R i number is :
W 64 (1) 64
(2) 84 ) 84
(3) 92 (3) 92
¥ 3 (4) 34
(5) I T &1 e (5)  Not Attempted
VNATH /E1

¥ B o feTw 2211 | SPACE FOR ROUGH WORK
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49,

50.
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mmﬁanﬁmmmmm??ﬁm

20% 21 e w &1 Ak IEA T 1,600 faud f=r o
3 F-d v 39 Sheq ¥ UF A2 F dEwa g
7
(1) ¥1,600
2) ¥1,920
I~)'| 22000
(4) 1,280
(5) 3T eI o1 9Ted |
X _ LR XtV momem:

y 3 x° = y°

5
1) 3

-5
®
3.5 87
il o 10
(4) )
(5) IO E & = |

wmmﬁfma@ﬁnﬁlzaﬁﬁmﬁ

T & Sl € 7

1
8—%
(1) 3
g~
2 85
1
9_0_.0
@ 93
1
8—"%

(5) I e & = |

49.

50.

51'

Arun buys a pair of skates at a gale where
the discount given is 20%. If the amount he
pays is T 1,600, then which of the following 18
the marked price of the pair of skates ?

(1) T1,600
(2) 21,920
(3) 22,000
(4) T1,280
(5) Not Attempted

2 2
if £ = l , then the value of iz_j_!iz— is :
3 x° =y
>
(I g
e
Gl =
a0
3 — 10
I T

(5) Not Attempted

At what rate of simple interest will a sum of
money doubles itself in 12 years ?

1
8—%
(LN
1
8—%
I
1
@ . 9%
1
8—%
4 8
(5) Not Attempted

VNATH/E1

>t @4 2 feu 2amel | SPACE FOR ROUGH WORK
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el (o S i IOl o e L LG St o ot e 9
mgﬁm%|qmﬁamm‘1ﬂ%: price of one ball is :
(1) 50 (1) 250
2) 55 (2) T8
(3) 60 3) %60
(4) T 45 (4) Z 45
(5) T A W | (5)  Not Attempted
53. 334#}393@3@311@13?}?4-&#\?@3@“@1 53. The greatest number which divides i,
1 faifem 3 aTeft ward 9 we @ greatest 3-digit number and the grem»;-‘_,
1 7 4-digit number, exactly is :
2) 8 (L)
3 9 (2) 8
4 3 B8 9
(5) S E I == 4 3
(5)  Not Attempted
54. TATEA2: 3% 7 H F| A 3w Ay 125 7,
3 Herd 2 - 54. Two numbers are in the ratio 2 : 3. If the
(1) 32,78 sum is 125, then the numbers are :
(2) 50,75 ()% -32, 78
(3) 24,36 (2)% 50,75
(4) 20,30 B) 24,36
(5) W 7 T =wea | (4) 20,30
(5) Not Attempted
55. 7fe foFell s ¥ forl = orvamé e e ey,
25 HIeX 741 168 & et #, ot s 9 ol I | 85, If the length of the diagonal and the areq of
. 4 rectangle are 25 m and 168 m?2 respective
3 then the longer side of the rectangle is :
a7 (7 m
(2) 244 2) 24m
(3) 31 3) 31m
(4) 124 4 12m
(5) I el &A1 9w | (5)  Not Attempted
VNATH / E1

¥ &1 % feT0 Zerma /| SPACE FOR ROUGH WORK

Page



56.

58.
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Choose the correctly spelt word.

(jf ~humorous
(2) humoros

(3) humarous

(4) humorus

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

They sold their old house because it was
a \\'hltf’_.e_]fEIE_l]_‘L _

(1) useless

(2) very comfortable

(3) 1 collapsing

¢y very large

(5) Not Attempted

Find out the antonym of ‘frequent’.

(1) return

(2) fear

(3) alarm

(4) rare

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.
To travel hopefully is a better thing than to

arrive, and the true success is to labour.

(1)  positively

(2) negligence

&3’] carelessly

(4) rationally

(5) Not Attempted

Pick out the part of the sentence which has an
error. If there is no error, your answer is (3).

This is the third communication | have sent /

(A)

and 1 am much surprised /
(B)

at receiving no answer ,
(C)

(1) (B

2) (©)

(3) No error

4 (A

(50 Not Attempted

VNATH/E1

20 1 & feTe Z2iTe

61.

62.

Fill in the blank with suitable alternative
You will not overtake him unless you
l walk quickly

(2) play

(3) reading

(4) sleep

(5) Not Attempted

In the following question, the first and the last
part of the sentence are numbered S; & S,
The rest of the sentence is split into four parts
and named P, Q, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

fl’{ QPSR
(20 RQPS
(3) SQRP
4) PQRS
(5) Not Attempted

Choose the alternative jykl
the given sentence
The accountant t@

customer.

(1) The cheq
customeri

)i The cust

B

(4)

()



70. ‘37 USTd & AN B g9 AN VA TE 2
speech. (1) AT
Shakti said to his friend, “Look out! There is :
a snake behind you”. afreh
‘1)19 Shakti exclaimed to his friend with (3) T
surprise that there could be a snake (4) 7%
behind him. B 3
(2) Seeing a snake behind him, Shakti (5)  SFUTI < e
asked his friend to look out, 71, ‘Fesmm’ % A9 @ a9 Gmen aaifis T o
(3)  Shakti warned his friend that there was [ Tk
a snake behind him. (1) famm
(4) Shakti told his friend to look out
there is a snake behind him. iy 2)
(5) Not Attempted (3) ez
66. Teu T fFw fases ¥ o W g wrE 2 (4)  fremm
TUE WA |G R (5) SR &I <1 = |
2) THRETEARE) 72. FH-T1 I G FRF F IR E )
(3) ¥R H U HH A W (1) 387 91 =7 = =5am)
(4) vFfa R Siaw =1 UR w6y ¥ (2) <fedl ot T
(5) ST Tl < Wed | (B) AYTAWAS 7
£t
67. 'TE I H 39 Wq YHI' 9 F I@THT T F5 g; W?%H;a:g%l
Taifes 3ugs qafaar=t s & - l
(1) e 73. 'gewitedl W oW ¥ T 13 @’ A s
ta e | Iqmem -
3)  FaEfy (1) ST TEFR H
(2] TG IERER T
¥ e (3) HHSTHITT TR
(5) IR T W IR (4)  SUHI STCiHR
68. fou T form famen 4 s g w2 (5) ST T S WA
(1), =@« 74, {59 TG T o WS YU A, 8 TR E -
@ T (1) =gshfe
3) = 2 T
4) gfzEm ()  eErEvE
(5) I AE = AR | (4) wFHuRE
69. '@edl T H 714 {1’ HerEt & et sugE e, Sl
Sy ' Sl | 7s. T SR He % e i Jon’ & o, waif s
1) ZEva L s
(1) - : HYd ] | “;r TRy
() FFEL ?:im 1?5r:n | (2) T
(3) fea S | 21 4| (3) RNrest
(4)  @Afgafus F=1fd FE1 (4) Tyt
(5) I @l & = | (5) I AR S A |
VNATH / E1 I B @ fe10 22ne / SPACE FOR ROUGH WORK
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Change the following sentence into indirect




76. faefaf@d oA g fa=m e 76.
(A) T TifEs TERT ST 0
(B) =1 Tifes TEGR] WO & % 72 W&
e @ ° FH o1/8 FYA WE ©/8 ?
(1) F99(B)
(2) [All*ﬂ-'-riﬁiﬁ
3 ATA) R A € (B)
@ FA
(5) ﬂqﬁﬂw'
7. mwmﬁgﬁﬂm%ﬁmmﬂﬁﬂmﬁm ‘:
e ;
(1) FEEIH
12) ek
(3) HICEED
() EED
(5) S 78 &1 9 |
7Je( mﬁmﬁmmmmﬂ?%mmﬁ 78.
e A€ 7
(1) =
2 W
(3) E
M) F
(5) I T & A | i
79. mwwn@rmmﬁ)#ﬁdﬂﬁﬁmﬁf@ﬁﬁ
& - F T2
(A) mma‘rmwmg@mmﬁmﬁﬁl
(B) mmﬁ?#ﬁ'ﬁﬁwiﬁﬁﬁ“ﬂ‘ﬁqﬁl
Wﬁ‘ﬁaﬁq—m/ﬁaﬁmnﬁﬁ/%?
(1) =94 (B)
) (A) 3 (B) T
(3) A (A) HA # (B)
(4) AT (A)
(5) I 2] Ared |
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VNATH/E1

2% &1 o fe1u 7ame / SPACE]

Consider the following statements

(A) Nada Sahib Gurudwara is situated in
Ambala.
(B) Nacda Sahib Gurudwara 18 situated on

the bank of river Ghaggar.
"\_."’ are

Which of the above statements 1
correct ?

(1) (B) only

(2) Both (A) and (B)
(3)  Neither (A) nor (B)
(4) (A) only

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Bahudhanyakya
(2) Hariyala

(3) Haryanak

(4) Haribanak

(5) Not Attempted

Boojali, an ornament is worn in s

the body by women in Haryans

(1) Forehead

(2) Foot

(3) Nose

(4) Ears

(5) Not Attemp

(B)

Which of th
correct ?
(1)
(2)
(3)
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go. iftm st ferm e ¥ for whag ¥ 2
(1) Hg
(@) T
(3) et
(4) =

(5) ST TR o =R |

81. TFHe! T54 Mg IR (S w8 S W) & 9§ frafafas

awm‘wmfaanaﬁfaq

(A) T 1 S T S f R % ot ww €t
iy &1

B) TEHNMWS R EFH iy
afys 1

ST H 9 FH-9/9 FU6 9 ¥/8 2

(1) ¥ (B) |

(2) (A) 3R (B) THI

(3) A (A)IRFH (B)

(4) F=d (A)

(5) ST TRl o =R |

82. TFHfefEd 4 9 %1 2w F yE 99 SOk

A AT e?

(1) ¥FE"a

(2) @

(3) TEE

(4) fomm

(5) =9 AE < = |

83. fo@ 9@ ¥ gndrm gy 12 favafasmem feom €2
(1) TEIH
(2) THIEER
(3) FE
(4) UEFT

(5) T AR <A1 AR |

80.

81.

82.

83.

Garima Chaudhary is well known for
sport ?

(1) Kabaddi

(2) Wrestling

(3) Archery

(4) Judo

(5) Not Attempted

Consider the following statements about ¢,
State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than tl; ,
Bihar.

(B) GSDP of Punjab is more than ihz:
Haryana.

Which of the above statements is/,
correct ?

(1)  (B)only

(2) Both (A)and (B)
(3)  Neither (A) nor (B)
(4)  (A) only

(5) Not Attempted

Which one of the following is not amongst
major cotton growing districts of Haryana

(1) Sonipat

(2) Ambala
(3) Rewari
(4) Sirsa

(5) Not Attempted

In which district is the Indian Natio:
Defence University located ?

(1)  Gurugram

(2) Faridabad

(3) Karnal

(4) Panchkula

(5)  Not Attempted

VNATH / E1
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84. fI=fefag o 3

ﬁmyn?ﬁwm

(1) =it g

(2) TfS= 7iree

(3) HishL doId1T

(4) w=xfug

(5) IR TEI & W
85.

eftamon & g € ?

Q) e

(2) AR

(3) HEd

(4 =H=

(5) SO AE oA =ed |
86. =HUA fohE U9 & Siaa & 2

(1) =fREmm

(2) ]

38.

VNATH / E1

HT S0 A Toreht 1)

=i ¥ e 7€ A sfeg qoge A @ s

84. Who amongst the following

85.

did mot play for

Haryana in Ranji Trophy
(1) Kapil Dev

(2) Rajinder Goel

(3) Sarkar Talwar

(4) Maninder Singh
(5) Not Attempted

In which month of the
Surajkund mela is DER
Haryana ?

(1) December,
(2) Octob

(3)




g0, fusir #1 wrdts fauma =) JgmaEn 23 % fe ufead =

90.

91.

92.

Join Telegram Group "HaryanadJobs.in"

¥, O gAeTs FA-| 8 2

(1) &9 Heis
(2) ¥ HEIH
(3) g WETH
(4) Han TR

(5) ST FE <A1 =red |

Frefefes 8 | . sfamm w2 w1 v, 99 sk

TS g9 § 2
(1) 4t $97 9=

(2) 4 9o 52 i
(3) & T=G dreen
(4) 4 3t faw
(5) W& S ERA|

ﬁﬁﬁf@ﬂﬁﬂfﬁmqammmqq%?

(1) ufas e
(2) IHFIY
8) TEFFy

¥ TRy

(5) = F ==

ﬁﬂhﬁammﬁaﬂaﬁﬁq:

(A) ﬁﬁmﬁ?wﬁmﬁﬁ%maw

71
(B) mﬁﬁmﬁﬁ@qﬁm%]
IR A A - o @ g8
(1) a7 (B
(2)  (A) 37 (B) 2
(3) q?iT[A]-':viTTq?:T{B)
(4)  %ad (A)
(5) 3 & = ||

89,

90.

91,

92.

¢ Heritage of Pinjore
n year. One is the
thh 18 the Second

To promote the anci€ b
two festivals are helrll cl‘_ i
‘Pinjore Heritage festival;
one ?

(1) Dates festival
(2) Mango festival
(3) Lemon festival
(4)  Orange festival
(5) Not Attempted

Who among the following iﬂ_' th'e foals?t?;;):j
Environment, Forests and Wildlife o Ty
State ?

(1)  Shree Kanwar Pal

(2)  Shree Mool Chand Sharma
(3) Shree Dushyant Chautala
(4)  Shree Anil Vij

(5)  Not Attempted

Which amongst the following is the State Tree
of Haryana ?

(1)  Sacred Fig

(2) Mango Tree
(3) Sal Tree

(4)  Banyan Tree
() Not Attempted

Consider the following statements :

(A)  Sonipat and Jh

ajjar share border with
Delhi.

(B)  Rohtak does not share border with Delhi.
Which of the abov
correct ?

(1) (B)only
(2)  Both (A) and (B)

(3)  Neither (A) nor (B)
4 (A only

(5) Not Attempteq

€ statements is/are

VNATH / E1
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93. HETHISH "HEWNG ' % Tafa w9
O

Who was th

(1)  Kali

(A) T o qfem e fom &)
ITEF | FA-w/ s wd i
F9¢ (B)
(A) 3R (B) S
T4 (A) A E (B)

=9 (A)

fam ad 2022-23 # fog, =REN
(1)
(2)
(3)
(4)
(5)
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nany dis

i 97. How 1
o7. wftarm ¥ fm f9e € 7 "
i | (2) 23
le 1 3 24
(4) 1 (4) 21
(5) IR FEI =7 e | (5) Not Attempted

f the following dance forms of Ha

icho ; ,,
- o :Zt::;sociated with Mewati tribe -
(1) Ratvai
W
(2) Phag
b (3) Gugea
y (4) Dhamal
(4] HUHI™

(5) Not Attempted
(3) 3 "1_F:‘I %‘-ﬁ ?ﬂ%ﬂ |

99. How many Rajya Sabha seats does Haryay,

99. Famn U= § U= 9yl & fhat 91 §2? have ?
(1) 7 B0n T
2 6 2) 6
PS 8) 5
% 8 4) 8

(5) = 7l < =ed | (5) Not Attempted

100. a7 4 #fd i wfw sfesm e F frg

Fad i %9 100. Indira Gandhi Super Thermal Powe
Y is situated in which district of
(1) TH7H 1
, (1) Sirsa
2 B
] TEHR (2) Hisar
(3) TSz i
J (3) Jind
4) =1

e SR
VIR 7% B & 10 2ermer | SPAGE




